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Shafts AB and CFas shown in the

B
figure have the same diameter d and — T5.0s
shear modulus G . A torqueTg is applied c 5 -f - .
at B. Assume that the torque is trans- T
mitted from shaft ABto shaft CFby a To.fo
~— Ly — [~ Lg Lc —

single gear-tooth contact force, and ne-
glect the thickness of the gears. It is known that the value of rg/rp =1/2,

TD :TEZO, LA:LB:LC:L
(1)Determine the shaft rotation at E , the rotation of gear D .
(2)Determine the gear-tooth contact force between gear B and D .
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L(B)Determine the maximum shear stress in each shaft.
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